HERKULESBUBEN
SOV

RANGLISTE MITGLIEDER +

(MITGLIEDER MIND. 36% GESPIELTE SERIEN)

104. SPIELABEND AM 28.12.20

FR. 25. DEZEMBER MO. 28. DEZEMBER || GESPIELTE SERIEN VERL
RANG NAME SCHNITT| + /- || GEW | VERL

1.SER.| 2. SER.| GES. |]1.SER.|2.SER.| GES. A v % GEG

= JRUHKAMP 2 | 32 1.156 14,1 3,1 | 3,8

1 [ = |BAUCKLOH, A. 823 | 1.592 40 | 53 | 43% | 1141 | +3 ||11,5] 1,3 | 5.2

= IMAUL 18 | 24 1.087 12,0 | 2,3 | 5,0

= |BAUCKLOH, W. -23 | 100 | 46% | 1.028 10,0 | 1,1 | 4,9

= |JHONAUER 2 | 69 | 41% | 1.012 11,0 | 2,1 | 4,3

= JLOHSE, MI. 2 | 14 1.009 9,9 | 1,4 | 5,0

4 | = |[KURING 1.286 | 1.100 12 | 89 | 57% | 984 +4 |l10,6] 1,7 | 3,9

= |V. ROOS 1.451 | 1.348 78 | 45% | 964 | +12 |]10,9] 2,1 | 3,7

= [KNOFEL 76 | 44% | 945 10,9 | 2,0 | 2,9

= [JusT 14 | 33 939 9,9 |15 | 3,6

7 | = |GLAGOW 1.247 | 773 0 [1203]|59%| 930 +2 |l10,0] 1,5 | 3,9

= |SKWARSKI 18 | 25 908 10,2 | 2,5 | 5,2

= |KEIM 2 | 49 877 82 |11 |51

8 | = JWINTER 16 | 72 | 49% | 877 9,8 |19 | 3,7

= |BREITFELD 39 873 9,9 |25 |41

9 = IDELLITH 211 | 1.070 146 | 84% | 850 3 187 |15 |40

= |EWERT, W. 32 844 85 | 1,7 | 48

= |GESSNER 45 844 93|18 |46

10 [ = |GANTE 832 ([ 554 10 | 168 |100%| 828 -2 |]10,2]| 2,6 | 3,6

11| = |KUDERLING 580 |1.171 118 | 70% | 791 +2 18115 ]340

= |JEWERT, UWE 2 | 32 773 76 | 1,4 | 56

12 | = |[KRATZSCH 810 | 610 10 | 68 | 4a% | 765 -1 74 109 |41

13 | = |[KOSSINGER 12 | 81 | 52% | 749 7,7 | 1,3 | 3,5

14| = |PORTER 65 | 38% | 666 7,8 | 2,0 | 3,2

15 | = |BLAUERT, A. 62 | 37% | 579 6,0 | 1,5 | 45

= JLOHSE, MA. - 2 1% | 1.239 10,5 | 0,0 | 4,0

= |DANNER - 3 | 2% | 1.129 13,3 | 2,7 | 2,7

= [MONCHGESANG - 2 1% 976 11,0 | 1,0 | 3,0

= |BRAUNHAHN - | a1 ]| 24a%| 965 11,7 | 2,7 | 3,9

= |KOTZOREK - 1 1% | 960 9,0 | 1,0 | 7,0

= JWITTKE - 2 1% | 926 9,5 | 1,0 | 6,0

= |POTTER - | 26 | 15% | 875 9,7 | 23 | 438

= |DRAUDE - 4 | 2% | 8a7 12,5] 3,8 | 2,8

= |GRECIC - |11 ]| 6% | 836 7,3 | 1,0 | 6,5

= |BOHM - 2 1% 834 65 |00 |70

= |FLOTHER 1.197 | 586 - | 23 | 13%| 799 +8 198 |22 |24

= |DILCHER - 4 | 2% | 789 7,8 | 1,5 | 45

= IREITZE, A. - 2 1% | 787 7,5 | 1,5 | 3,5

= |HEYNER - 3 | 2% | 777 6,7 | 1,0 | 6,7

= IREITZE, R. - |11 ] 6% | 766 7,9 | 1,9 | 4,7

= JWIESER - | 42 | 24% | 634 7,9 |21 |32

= |KAUFMANN - 2 1% | 313 7,5 | 4,0 | 2,0

= |APPELBAUM - 1 1% | 289 50 | 4,0 |90

DURCHSCHNITT | 864 9,9 | 1,8 | 4,3




